Q 01 Consider the diffraction pattern obtained from the sunlight
incident on a pinhole of diameter 0.1 um. Ifthe diameter of
the pinhole is shightly increased, it will affect the diffraction
pattern such that |Feb. 25, 2021 (1)}
(a) Its size decreases, and intensity decreases
(b) Its size increases, and infensity increases
(c) Its size increases, but intensity decreases
(d) lts size decreases, but intensity increases

ANS

(d)  sinf= L%Z-)i, where D is opening diameter,

When opening size diameter of the pinhole is increased,
the diffraction size decreases but intensity increases.



